TGRS
202158 85H £HFPY

R PR

it WA TR E BEEEEAER

09:37

ﬂx.g)- XW % (xy)—10.0) B ERE
£ xe proste, y= psing., B2 6,00 po
4:4, t) 1% L=’x=[’00590, 3:65‘”490 %fﬂa’“ [0.0) B‘T

lim 'f(x'tj) = l{,[f,"‘w cos8, sinfle = cosB. sinf,

X\ EL
xy-lo.0)

GES
- kK
= TEK

0I5 = F &
The BERGAMR 38 BRI o T
EE I WmEFE
J =2 BRI
>§L.i%
I 5

e

SeEgEREE
+ — ke —= BEZR

TRE. B5 50 Taas

® &l&ﬂ”:f(x" X, -, %) 2 0= (a0,
EE Dt sa=MBERARNIE

(St
a)= (@) by
H']'- o) (QX@)S} )mxm h i = =] *&IJ\

) SPEEE-MBEETHS.

/N

ARSI —=Rh5ER

:im o Fmo| gy P
axzaxx 5){”(“) ‘ “ég';fxla)
M S
GXMSXI a) QXMQXz(a) Y SX: (a)j ﬂ%ﬁ-\mﬁ
N 1x=x(u,v) (x(e,e), g(ele)]zlewse, pSing)
— E ﬁ % y=y v D(x,g)___ CosO ~ps‘m9 =030
9) ind ”
/ \ J[ ‘Hx,g) dlej) DE.®) |sind Posh
y®
‘E’Ik - = 1];]-Hx(u,v), ylun) —:—(% dly,v)
gfg dxdy ° %5{2}5@’\ X y
L D={0up |xe[0.1], 02 y<Jx | D= {eyluelol), yexs )
% ,
\\s Ex’y dxdy &x\gdxdg
x r
\\\D\\ = [ ([ sy dy> dx = [, (Jy 2y 4 dy
0 | X = [Led f,f)dx -Jlly%ﬁ}'z)dy
=[x 3 dx = Lyls-Hdy
= L
=3 _ é'?
%=x(u,v. ) BERER  wenid
- E 13 % Y=y luv,w) Y= Peos X=1Sinb wsy
- 7=Z (W, W) Y= psind Y= vging siny
/ \ Tl w)= (3 %3@\% 2=2 Z=105h
by oy 2u|  TE6.2)7P20 T (r84)=rsing>
. e NV oW -
Elk AT ;; ;g a2
SU 3V Sw
g”d"d”d’g D=1{ ey 0gx< 1y, 04y < I}
Q={kx'y,2)|(x,g)eD , D¢ 2< I—x-g}
ggdxdg da=ﬂ(]‘*‘3 ‘Adz dxdy
Q\j(lxg)dxdy ][ 9(1x9)dx)dj

J:,[ ﬂXﬂy {1)')([,,0)019 La}j(l—y)dg
6’94‘-'59 "‘ZU |o'1

=\




